
Russia

y = -80.68x + 3,557,942.17
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Regression line for peak periods: Russia

Recorded results

Projected results

Linear  regression line

Regression equation in excel date code:

Daily declining rate= 81 cases per day

When y=0, x= September 25, 2020

Average wave period: 7 days

Average declining rate of recorded results= 101 cases per day
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United 
Kingdom

y = -1889ln(x) + 10037
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Regression Line for Peak Periods: United Kingdom

Recorded results

Projected results

Regression line equation:

Average daily declining rate: 36 cases per day 

When y= 0, x= 203 (October 29, 2020)

Average declining rate based on recorded results= 76 cases per day 
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Average wave period: 6 days

9 Days
5 Days

7 Days

5 Days

11 Days

7 Days

5 Day
s

6 Day
s

3 Day
s

7 Day
s

7 Day
s

12 Day
s

6 Day
s

6 Day
s

6 Day
s

6 Day
s

6 Day
s

6 Day
s

6 Day
s

6 Day
s

6 Day
s

6 Day
s

6 Day
s

6 Day
s

6 Day
s

6 Day
s

6 Day
s

6 Day
s

5 Days


